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 : اختاري الإجابة الصحيحة فيما يلي  (1

1 
n

A n . 180 B ( n + 2 ) . 180C ( n - 2 ) . 180 D ( n ÷ 2 ) . 180 

2 
A 1800B 2160C 1440 D 900 

3
A 1440B 144C 120 D 180 

4
  m ∠ D = ..........

A 45B 135C 180 D 360 

5
120

A 5 B 6 C 7 D 9

6
140

A 5 B 6 C 7 D 9

7 
A 90 B 180 C 360 D 720

8
 

A 90 B 180 C 360 D 720

9 
  x = ..........

 

A 68 B 70 C 88 D 90

10
A 120 B 90 C 60 D 45
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11 
A  B  C  D 

12
 

A  B  C  D 

13 
 

A  B  C  D 

14 

 

A 
 

B  C  D 

15 
PQRS~QP = ..........

A 3 B 5 C 8 D 15 

16 
PQRS~QR = ..........

A 3 B 5 C 8 D 15 

17 
PQRS~m ∠ R = ..........

A 360 B 180 C 128 D 52

18 
PQRS~m ∠ S = ..........

A 360 B 180 C 128 D 52

19 
XYZW~y = ..........

A 10 B 11C 20D 22

20 
FGHD~x = ..........

A -16  B 28C -10D 58

21 JKLM~x = ..........

A 76 B 38C 106D 53
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22 
ABCD~y = ..........

 

A 17 B 10C 7D 3

23 
ABCD~x = .......... 

A 11 B 6C 5D 4

24 
WXYZ~W(-1,7) , X(8,7) , Y(6,-2) , Z(-3,-2)

A ( 7 , 14 )B ( 3.5 , 7 )C ( 5 , 5 )D ( 2.5 , 2.5 )

 

25 
A  B  C  D 

26
 

A  B  C  D 

27 
 

A  B  C  D 

28
A  B  C  D 

29
A 

 

B 

 

C 

 

D 

30 

 

A B C 

 

D 

 

31
x

 

A 22 B 11 C 6 D 3
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32
y

 

A 16 B 6 C 8 D 3

33
y

 

A 16 B 14 C 8 D 7

34 

ABCDA(3,3) , B(8,2) , C(6,-1) , D(1,0)

A 

AB=BC=  26

AD=DC=  13

B 

AB=BC=  20

AD=DC=  12

C 

AB=DC=  26

AD=BC=  13 

D 

AB=DC=  20

AD=BC=  12

35

QRSTQ(-5,3) , R(1,-1) , S(-1,-4) , T(-7,0) 

A 

= QR  ST

= - 
2

 3 
 

= QT  RS

= 
3

 2 
 

B 

= QR  ST

= 
3

 2 
 

= QT  RS

= - 
2

 3 
  

C 

= QR  RS

= - 
2

 3 
 

= QT  ST

= 
3

 2 
  

D 

= QR  RS

= 
3

 2 
 

= QT  ST

= - 
2

 3 
  

36 

AB , DC ABCDABCD

A  AB    ACB AB    DCC AC    BD D AD    BC 

37 
WXYZ~X

A ( a , 0 ) B ( a , b ) C ( a , c ) D ( a , - b ) 

38
WXYZ~Y 

A ( a + b , c ) B ( a - b , c ) C ( a + b , 0 ) D ( a - b , 0 ) 

39
ABCD~C

 

A ( a , c ) B ( a + b , c ) C ( b , c ) D ( a - b , c ) 

40
ABCD~D

A ( a , c ) B ( - a , c ) C ( b , c ) D ( - b , c ) 
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41
 

A  B  C  D  

42
 

A  B  C  D 

43 
A  B  C  D  

44
WXYZZY = 2 x + 3 , WX = x + 4

WX = ........

A 1 B 2 C 4 D 5 

45
WXYZZX = 2 x + 40 , WY = 4 x + 22ZX = ........

A 18 B 36 C 58 D 62 

46

WXYZm ∠ ZYW = ( 2 x - 7 )  , m ∠ WYX = ( 2 x + 5 )

m ∠ ZYW = ........

A 90 B 62 C 51 D 39 

47
MNOP

PR = 3 y - 5 , MO = 4 y + 12 y  = …….. 

A 11 B 17 C 22 D 34 

48
EFGH FK = 32 ftEG = ........ 

 

A 16 ft B 32 ft C 64 ft D 90 ft

49
EFGHm ∠ FEG = 57m ∠ GEH = ........ 

A 123 B 90 C 57 D 33 

50
EFGHm ∠ HGE = 13m ∠ FGE = ........ 

A 157 B 77 C 57 D 13 

51

WXYZW (-4,3) , X (1,5) , Y (3,1) , Z (-2,-2) 

A B C 
 

D
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52
 

A  B  C  D  

53
 

A  B  C  D 

54
 

A  B  C  D  

55
ABCD AB = 14 BC = ........ 

 

A 14 B 28 C 42 D 56 

56
ABCDm ∠ BCD = 118m ∠ BAC = ........ 

A 118 B 62 C 59 D 43 

57
ABCDm ∠ DPC = ( 3 x – 15 )x = ........ 

A 105 B 90C 45 D 35

58
JKLM JK = 10 , CK = 8 JC = ........ 

 

A 4B 6 C 8 D 10 

59
ABCDm ∠ BCD = 120m ∠ DAC = ........

 

A 30 B 60 C 90 D 120 

60
 

A  B  C  D  

61
 

A B  C  D  

62
 

A B  C  D  

63
 

A B  C  D  
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64
 

A B  C  D  

65

 

A B 
 

C 
 

D 
 

66

 

A B 
 

C 
 

D 
 

67

JKLM~ J (-7,-2) , K (0,4) , L (9,2) , M (2,-4)

A B C D 

67 
A B C D 

68 
A B C D 

69 
A B C D 

70 
JKLMm ∠ M = 80

m ∠ L = ........

A 360B 190C 100D 80

71 
JKLMm ∠ M = 80m ∠ K = ........

A 360B 190C 100D 80

72 
WXYZXZ = 18 , PY = 3

PW = ........

A 21 B 18 C 15 D 3 

73 
WXYZm ∠ XYZ = 120m ∠ WXY = ......

A 360B 120C 90D 60
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74 
XWZYm ∠ W = 112

m ∠ Z = ........

A 360B 112C 68D 56

75 
ABCD∠ DCB 

A ∠ CBAB ∠ BADC ∠ ADCD ∠ DAC

76 
ABCDAB 

A BC B CD C DA D 

77 
ABCDAC 

A AB B BC C BD D AD 

78 

ABCD  A (-3,4) , B (2,5) , C (3,3) , D (-1,0)

A B C D 

79 
A B C D 

80 
A B C D 

81
S , VQRTU

QR = 12 , UT = 22 VS = ......... 

A 34 B 17 C 12 D 10 

82

S , VQRTU

VS = 9 , UT = 12 QR = .........

A 21 B 10.5 C 6 D 4.5

83

S , VQRTU

RQ = 5 , VS = 11 UT = .........

A 17B 16C 8.5 D 8 
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84
A B C D 

85
A B C D 

86
A B C D 

87
QRSP

A  ∠ S  ∠ Q B ∠ S  ∠ PC ∠ P  ∠ RD ∠ P  ∠ Q

88
ABCD

A AC    BDB AC  \\  BDC AC    BDD 

89
WXYZWP = .........

A  10 B  20C  30D  40

90
CDFGGF = .........

A 5 B 7C 12D 20

91
WXYZm ∠ X = .........

A 360B 117C 70D 56

92

m ∠ A 

ABCD

A 
 

m ∠ A = 115
B 

 

m ∠ A = 100
C 

 

m ∠ A = 55
D 

 

m ∠ A = 45
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93
ABCDm ∠ C = .........

A 360B 107C 105D 74

94
QRSTm ∠ S = .........

A 204B 136C 78D 68

95
CDFGm ∠ D = ......... 

A 244B 122C 116D 67




